City of Fayetteville Item Review Form

2014-0027

Legistar File Number

February 4, 2014

City Council Meeting Date - Agenda Item Only N/A for Non-Agenda Item

Terry Gulley

Terry Gulley		Transportation Services
Submitted By	Action Required:	Department
prices and from various vendo	-12 and authorizing the purchase of ors as shown on the attached bid tab and availability, as needed through th	ulation and authorizing the use of
Does this item have a cost? Yes		Mariana Oppital Business
Cost of this request	Category or Project Budget	Various Capital Projects Program or Project Name
·		Transportation Improvements
Account Number	Funds Used to Date	Program or Project Category
	\$0.00	Sales Tax Capital Improvements
Project Number	Remaining Balance	Fund Name
Budgeted Item? Yes	Budget Adjustment Attached?	
Previous Ordinance or Resolution # Original Contract Number: Comments:		V20130812 01-17-14 P12:52 RCVD ENTERED
Paul a. Bell Harle Har	for Dan Warn	





CITY COUNCIL AGENDA MEMO

To: Mayor and City Council

Thru: Don Marr, Chief of Staff

From: Terry Gulley, Transportation Services Director

Date: February 4, 2014

Subject: Bid #14-12, Drainage Pipe

PROPOSAL:

A resolution awarding Bid #14-12 and authorizing the purchase of drainage pipe for varying unit prices and from various vendors as shown on the attached bid tabulation and authorizing the use of other bidders based on price and availability, as needed through the end of calendar year 2014.

RECOMMENDATION:

The purchase of bulk construction materials and services is necessary to maintain current infrastructure and to implement projects outlined in the 2013-2017 Capital Improvements Program and annual budget and work program. Sealed bids in accordance with State statutes, City ordinances, and purchasing procedures were publicly read and the results are attached to this memo.

BUDGET IMPACT:

Funds for the acquisition of materials and services have been budgeted in various capital projects within the Sales Tax Capital Improvements Fund and Street Fund operating programs.

RESOI	LUTION	NO.	
-------	--------	-----	--

A RESOLUTION TO AWARD BID #14-12 TO HANSON PIPE & PRECAST AND SCURLOCK INDUSTRIES AUTHORIZING THE PURCHASE OF DRAINAGE PIPE FOR VARYING UNIT PRICES AND AUTHORIZING THE USE OF OTHER BIDDERS BASED ON PRICE AND AVAILABILITY AS NEEDED THROUGH THE END OF CALENDAR YEAR 2014

BE IT RESOLVED BY THE CITY COUNCIL OF THE CITY OF FAYETTEVILLE, ARKANSAS:

Section 1: That the City Council of the City of Fayetteville, Arkansas hereby awards Bid #14-12 to Hanson Pipe & Precast and Scurlock Industries for the purchase of drain pipe at varying prices as set forth in the certified bid sheet, a copy of which is attached as Exhibit "A."

Section 2: That the City Council of the City of Fayetteville, Arkansas hereby authorizes the use of other bidders based on price and availability as needed through the end of calendar year 2014.

PASSED and APPROVED this 4th day of February, 2014.

APPROVED:	ATTEST:
By: LIONELD JORDAN, Mayor	By: SONDRA E. SMITH, City Clerk/Treasurer



BID: 14-12 DATE: 01/14/14 TIME: 2:00 PM CITY OF FAYETTEVILLE

Bid 14-12, Drainage Pipe

Item# Size	Size	Measure	Description	Estimated Quantity	Unit of Measure	Hanson Pipe & Precast				Scurlock Industries			
				Quantity	Wedsure	Uni	t Price	Ext	ended Price	Unit Price		Extended Price	
1	15"	Diameter	Circular Reinforced Concrete Pipe, Class III	90	Feet	\$	11.55	\$	1,039.50	\$	10.15	\$	913.50
2	18"	Diameter	Circular Reinforced Concrete Pipe, Class III	180	Feet	\$	14.89	\$	2,680.20	\$	12.25	\$	2,205.00
3	24"	Diameter	Circular Reinforced Concrete Pipe, Class III	180	Feet	\$	23.58	\$	4,244.40	\$	17.75	\$	3,195.00
4	30"	Diameter	Circular Reinforced Concrete Pipe, Class III	45	Feet	\$	33.96	\$	1,528.20	\$	26.25	\$	1,181.25
5	36"	Diameter	Circular Reinforced Concrete Pipe, Class III	45	Feet	\$	46.76	\$	2,104.20	\$	39.35	\$	1,770.75
6	42"	Diameter	Circular Reinforced Concrete Pipe, Class III	45	Feet	\$	58.38	\$	2,627.10	\$	49.75	\$	2,238.75
7	48"	Diameter	Circular Reinforced Concrete Pipe, Class III	45	Feet	\$	74.02	\$	3,330.90	\$	60.45	\$	2,720.25
8	15"	Diameter	Flared End Section, Circular Reinforced Concrete, Class III	2	Each	\$	289.44	\$	578.88	\$	236.00	\$	472.00
9	18"	Diameter	Flared End Section, Circular Reinforced Concrete, Class III	2	Each	\$	317.45	\$	634.90	\$	268.50	\$	537.00
10	24"	Diameter	Flared End Section, Circular Reinforced Concrete, Class III	2	Each	\$	360.30	\$	720.60	\$	336.00	\$	672.00
11	30"	Diameter	Flared End Section, Circular Reinforced Concrete, Class III	2	Each	\$	400.98	\$	801.96	\$	397.00	\$	794.00
12	36"	Diameter	Flared End Section, Circular Reinforced Concrete, Class III	2	Each	\$	732.22	\$	1,464.44	\$	746.50	\$	1,493.00
13	42"	Diameter	Flared End Section, Circular Reinforced Concrete, Class III	2	Each	\$	968.55	\$	1,937.10	\$	957.00	\$	1,914.00
14	48"	Diameter	Flared End Section, Circular Reinforced Concrete, Class III	2	Each	\$ 1	,140.73	\$	2,281.46	\$	1,132.00	\$	2,264.00
15	42"	Diameter	Flared End Section, Plastic Pipe	2	Each	\$	968.55	\$	1,937.10		NO BID	\$	-
16,	48"	Diameter	Flared End Section, Plastic Pipe	2	Each	\$ 1	,140.73	\$	2,281.46		NO BID	\$	-
17	6 Feet	Feet	Box Culvert, 6 ft. Sections (6x7)	4	Each	\$ 2	,808.00	\$	11,232.00	\$	1,800.00	\$	7,200.00
18	5 Feet	Feet	Box Culvert, 5 ft. Sections (3x12)	9	Each	\$ 5	,400.00	\$	` 48,600.00	\$	2,150.00	\$	19,350.00
19	4 Feet	Feet	Junction Box, 4 ft. Sections (4x4x4)	10	Each	N	O BID	\$	-	\$	900.00	\$	9,000.00
20	4 Feet	Feet	Inlet Box, 4 ft. Sections (4x4x4)	10	Each	N	O BID	\$		\$	900.00	\$	9,000.00
	Total Bid Price =					=		\$9	90,024.40			\$6	6,920.50

Indicates Bid Correction

CERTIFIED:

A FOREN, PURCHASING AGENT

WITNESS

DATE